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Question: 1.(a) By applying Kirchhoff’s law to circuit we obtain the following system of linear
equations

iy +2i, = 7i, = -4
2 +1,+i, =13 [15]
3i, + 97, -~ 36i, = -33

use Gauss - Jorden method to find 7,1, and I .

Question: 2. (a) Find condition on a, b, and ¢ for which the following system is consistent,

[12]
x-2y+3z=a
3x—y+5z=5>
2x+6y-2z=c
(b) For what values of A , A is not invertible
A -1 0
A= 0 A-1 0
-1 0 A-1

8]

Question: 3. Solve the system of linear equations

x+2y-z=2
2x+3y+2z="5
3x+2y+3z=10

a) Write the system in the form AX =B

b) Find Adj (A),

¢) Find A" by using Adj (A),

d) Use A to find the solution of the given system [15]
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Question: 1.(a) By applying Kirchhoff’s law to circuit we obtain the following system of linear

equations

i +2i,—7i, =4
2i +i,+i, =13
34, +9i, —36i, = 33

use Gauss - Jorden methed to find /.7, and L.
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Question: 2. (a) Find condition on a, b, and ¢ for which the following system is consistent,
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Question: 3. Solve the system of linear equations

X+2y—z=2
2x+3y+2z=95
3x+2y+3z=10

a) Write the system in the form AX =B

b) Find Adj (A),

¢) Find A" by using Adj (A),

d) Use A” to find the solution of the given system
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